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(O 7 Hp 4522 (Runtime Error) - 3% % 45 3% (Semantic Error) - 3% 45 3%
(Syntax Error)
O izt fe & (Dynamic memory allocation) - # it e e f8 e & (Static
memory allocation )
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def MoveDisk (n , from_pole, to pole, aux pole):
it n==
print ("Move top disk from pole *,from pole,to pole™,to pole)
return
MoveDisk (n-1, from_pole, aux_pole, to_pole)
Print ("'Move top disk from pole " ,from_pole,"to pole',to pole)
MoveDisk (n-1, aux_pole, to_pole, from_pole)

MoveDisk(5, "A", "C", "B")
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O<u> This is difficult. </u>
(O<strike> This test is easy. </strike>
=<ol>
<li>What</l1i>
<li>is</li>
<li>this?</li>
</ol>
<Form method=post action="/cgibin/example.cgi'>
Select an option:<br>
<input type="radio" name="option'> A
<input type="radio" name="option" checked> B
<input type="radio" name="option"> C



